
Three Phase Delta Connected Load 
 
Power consumed by three phase load 

The power consumed by the three phase load is given by sum of power consumed by 
each individual load in each phase. 
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Where,  
θRY = Phase difference between VRY and IRY 
θYB = Phase difference between VYB and IYB 
θBR = Phase difference between VBR and IBR 
Since the system is balanced, 
|VR| = |VY| = |VB| = V 
|IR| = |IY| = |IB| = I 
θRY = θYB = θBR = θ 
P=VI cosθ + VI cosθ + VI cosθ  
= 3 VI cosθ  
In balanced delta system, V = VL and I= IL / √3  
P = 3VL (IL / √3) cosθ 
P = √3 VL IL cosθ  
 
The above equation represents the power consumed by a 3 phase delta connected 
load. 
 
This expression is same as that of the power in balanced star connected load. 
 


